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Reasoning Mega Quiz for SSC CHSL (Solutions)

$1. Ans.(c)
Sol. Burn is caused by fire and freezing is caused by Ice.

S2. Ans.(c)
Sol. Polo is a outdoor game.

$3. Ans.(c)
Sol. The correct sequence of the words according to dictionary
Satire — stamped — storm — strangle — strap

S4. Ans.(b)
Sol.
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$5. Ans.(b)
Sol.

From the family diagram,
Mother

’xmw d kﬂ-.l-l."

FLELL'[}-’

. +
Son

= So, lady is the sister of Diwakar.

VARV £
$6. Ans.(b)

Sol. Globe cannot be derived from Biological. —ZIFBEE—

CHALLENGING
(3x10x6)+6=186 MUGKS |

(9x5%x3)+3=138 |
(5x7x1)+1=36 21PVI%”EXS
(3x2x5)+5=35

1 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/4953/21-Days-%7C-21-Free-Challenging-Mocks-%7C-21-Daily-Winners-Online-Test-Series

$8. Ans.(b)

Sol.

Total triangles = 11
A

HDG
= AABC, AADB,AADC,ABED,
ADCF,ABHE,AEHD,ADGF,
AGCF,AEDA, AADF.

$9. Ans.(a)

$10. Ans.(C)
Sol. SPEAK = 21, 40, 44, 57,99

$11. Ans.(c)
Sol.
] Q XE MT NL
+Zl+2 +2 +El Similarly, +2|+2 +zl+zl
LS Z G OVP N
$12. Ans.(c)

Sol. Cylinder is a 3-D figure

$13. Ans.(d)
Sol. 510 is not perfect cube number.

S$14. Ans.(a)

Sol.
KV L MT NS
tot tt L It -1 ]
+1 +1 +1

$15. Ans.(c)

Sol.
4x+3 _ 7 _
ATQ, ois 3 = x 1

So, age of Anil = 4 year

$16. Ans.(b)

Sol.

(1)P=Q

(2) R does not least mark
(3)S>T=>P

So, Q will have the least mark.
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$17. Ans.(d)

Sol.

C 3 L— 3

A 1 | — 9

5 19 Similarly, T——20

l 9 | —— 9

0 15 / 26
E 5
N 14

$18. Ans.(c)

Sol.

6xX9+4=>58

3X947 =34

AX4+9=091

A=205

$19. Ans.(c)

Sol. Total triangles = 6

$20. Ans.(a)

Sol.

1 ] 4 2

Nl S

So, opposite of 4 =1’

$21. Ans.(c);

Sol.

The movements of Sachin are as shown in Fig.
(PtoB,BtoC,CtoDandD to Q)

Clearly, distance of Q from P
=PQ=(DQ-PD)=(DQ-BQC)
=(40-300m=10m

Also, Q is to the West of P.

Qis 10 m West of P.
Q P 40 m

TEST SERIES
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D

20m 20m

B C
30m

$22. Ans.(b);
Sol. Only daughter of my mother—Mpyself. So, the woman is mother’s 59 Total Tests | eBooks
daughter.
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$23. Ans.(b);

Sol. 12 Months Subscription
o1 [6FS T4\
Ad—a 1 - Ho1S
~ v ( v 7
S24. Ans.(d); S S C
Sol. Useful for CGL, CHSL & others
(' TEST PACK
$25. Ans.(b)

Sol. BEST — 24, 22,77, 97
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